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SM: SEAD
MM SESTSH Y A
S9: SRIASTRA (SYUASIIBSSE) (el m)
x 5 . AT
S - ZE - SI(S1H) - HRAY - BAS 0] apot Sl o HlRE2
== 4,320,000 5,520,000 A1,200,000
SESTSH U ZHOHE 4,320,000 5,520,000 A1,200,000
SUASKAN(SYALSIIDES5]) 4,320,000 5,520,000 A1,200,000
SASEIA 4,320,000 5,520,000 A1,200,000
501 8112 3,000,000 3,920,000 920,000
01 LZEN= 3,000,000 3,920,000 920,000
O SXAI 3,000,000
0 SUASEOAIY SXZ  3,000,000,0002 3,000,000
602 CIXI2 1,320,000 1,600,000 280,000
01 oIxI= 1,320,000 1,600,000 A280,000
O 812 84+ = 1,320,000, 0002 1,320,000
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